
To be in the past tense goes in the second position! 

Byl=1 jsem=2 doma 

Včera=1 jsem=2 byl doma 

Včera večer=time=1 jsem=2  byl doma 

Kde=1  jsi=2  byl 

„se“ goes after to be: 

Díval=1  jsem=2 se=3  na televizi 

Včera=1 jsem=2 se=3 díval na televizi 

Včera večer=1= time jsem=2  se=3 díval na televizi 

Na co=1  jsi=2 se=3 díval? Colloquial: na co ses díval? 

Meaning: what were you looking at/what were you watching? 

 

PARTS OF THE HUMAN BODY PLURAL FORMS: 

OKO – OČI 

UCHO – UŠI 

RUKA – RUCE 

Phrases: 

Chtěl/a bych se objednat – I would like to set an appointment 

Srdce – heart 

Mám zlomené srdce 

Mám zlomenou nohu – broken leg 

Zlomenou ruku -broken arm 

Zvýšenou teplotu – raised temperature 

Horečku – fever 

Mám alergii na – I m allergic to.. 

Pyl – pollen 

Antibiotika 

 

 

 


